B APNaLS_4eALA

UEILA40_LZA4E Y

=
o

-0.5

alphal3_4eX1X:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

deltad46_12X4eY:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

alpha4b_4ey4ay

5931

5930.5

5930

5929.5

5929

5928.5

5928

5927.5

5927

alpha46_4eY4aY:cyclenum {run == 5929}

Eoe v v by v by vy by v 1y
5179 5179.5 5180 5180.5 5181
cyclenum

run:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

deltal3_lzx4ex

segment

25

15

05

deltal3_12X4eX:cyclenum {run == 5929}

5179

5179.5

5180

5180.5

5181
cyclenum

segment:cyclenum {run == 5929}

5179

51795

5180

5180.5

5181
cyclenum




USI_1A

usi_4ey

0.5

=

usl_1X:cyclenum {run == 5929}

P -
e e e eeeeamaenaaaaan .-

5179 5179.5 5180 5180.5 5181
cyclenum

usl_4eY:cyclenum {run == 5929}

5179 51795 5180 5180.5 5181

cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

usl_12X:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181

cyclenum

usl_sex

5931

5930.5

5930

5929.5

5929

5928.5

5928

5927.5

5927

usl_4eX:cyclenum {run == 5929}

[

PRI RN BN AR
5179 5179.5 5180 5180.5 5181
cyclenum

run:cyclenum {run == 5929}

5179 51795 5180 5180.5 5181

cyclenum




USI_L1A

usI_aey

0.5

=

usr_1X:cyclenum {run == 5929}

P -
e e e eeeeamaenaaaaan .-

5179 5179.5 5180 5180.5 5181
cyclenum

usr_4eY:cyclenum {run == 5929}

5179 51795 5180 5180.5 5181

cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

usr_12X:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181

cyclenum

usr_aex

5931

5930.5

5930

5929.5

5929

5928.5

5928

5927.5

5927

usr_4eX:cyclenum {run == 5929}

[

PRI RN BN AR
5179 5179.5 5180 5180.5 5181
cyclenum

run:cyclenum {run == 5929}

5179 51795 5180 5180.5 5181

cyclenum




14920

4919.5

14919

4918.5

14918

1027.5

1027

1026.5

1026

1025.5

usl_coill:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

usl_coil6:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

2928.8

2928.6

2928.4
2928.2

2028 F

2927.8
2927.6

2927.4

2927.2
2927 F

2926.8 F

2926.6

[

usl_coll/

0.5

usl_coil3:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181

cyclenum

usl_coil7:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

5403.5

5403

5402.5

5402

5401.5

5931

5930.5

5930

5929.5

5929

5928.5

5928

5927.5

5927

usl_coil4:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

run:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum




12928

2928.5

12929

2929.5

12930

1421

1420.5

1420

1419.5

1419

usr_coill:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

usr_coil6:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

2269.5

-2270

2270.5

-2271

2271.5

[

usr_coll/

0.5

usr_coil3:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

usr_coil7:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

5665

5664.5

5664

5663.5

5663

5931

5930.5

5930

5929.5

5929

5928.5

5928

5927.5

5927

usr_coil4:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

run:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum




-279.5

-280

-280.5

-281]

-281.5

-245

-245.5

-246

-246.5

—247

1X_coill:cyclenum {run == 5929}

5179 51795 5180 5180.5 5181

cyclenum

4eX_coill:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

1-16.5

-17

-17.5

-18

-18.5

-35.5

-36.5

1X_coil3:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

4eX_coil3:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

1X_coll/

4eXx_coll/

[

05

[

1X_coil7:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

4eX_coil7:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum




2175

217

2155

231.2

231F
230.8F
230.6 F
230.4F
230.2F

230F

229.8

229.6

220.4F

229.2F

229

4aY_coild:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

4eY_coil4d:cyclenum {run == 5929}

5179 51795 5180 5180.5 5181

cyclenum

1155

115

1145

114

1135

culo

%1705

aey

70

69.5

69

68.5

4aY_coil6:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

4eY_coil6:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

4ay_coll/
=

05

4eY_coll/
=

05

4aY_coil7:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

4eY_coil7:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum




-231.5

-232

-232.5

-233

-233.5

12X_coilé
[=2]

55

4.5

12X_coill:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

12X_coil6:cyclenum {run == 5929}

5179 51795 5180 5180.5 5181

cyclenum

-82.5

-83

-83.5

[

12X_coi/

0.5

12X_coil3:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

12X_coil7:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum

12X_coll4
|
5

5931

5930.5

5930

5929.5

5929

5928.5

5928

5927.5

5927

12X_coil4:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181

cyclenum

run:cyclenum {run == 5929}

5179 5179.5 5180 5180.5 5181
cyclenum
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